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2159 2.162+-0blicz warto$¢ wyrazenia, jedli a =—4: -E_
flal = a} b) Za la-3| ¢) lal-3a-2} . -
ll-44 = 11 - g, ]s{()‘” {-
2.60. 2.170. Oblicz wartoé¢ wyrazema jedlib=3:
a) l2-b| - b| b) |[-1-]2-b]|+b ~2b |b+1l

51, 2 . Obliczwarto$¢ wyrazenia, jeS]\C‘"I
a) [|1+c|+ ¢ b) |[-1-[2=¢]| ¢) 1-|3c + |2 -4

/“'/5“l l=]- "‘f-f\MI/]

2.162. 2.172. Podaj warto$¢ wyrazenia:

a) |a_‘_3| Ia_'_ZI jedlia € (~oo, 0) b) l4—-al+[2+0a|, jedliae (-2 4)
@’0—3|—|a+4[, jedlia e (3, +0) d) la+1~la+5], jesliae (~ow,~5)
|-24]-la—1|, jeslia e (-0, -1) f} |1+2a}+|-3a|, jesliae (~o, -2) ~
g) a-|3~lal|, jesliae (4 +o h) [20] - I_l_—lnﬂ,___j_es\lias—:i’;
o-5%- 0~+L\3_ _ “
-20~=|1+ -0 + /40—
2163, 2.173. Rozwiaz réwnania} -1 7'0:_ H O.I t A% |
a) k=4 ) b= o 4 =62 ;
d) 3 =7,5 e@ Q_g[x[ 1 ==& {
g X+5=5 n.._=—2 M -“/ i) —1 X4 &
- 16‘ w3 (=l x ¢ zf’{
2168, 2.174. Rozwiaz réwnania: \'16\ =16 - {‘
a) x-1=2 b) x-4{=0 ' c) |x«>§ 4
d) x+2[=3 e) x-3|=7 f)1-(x+5/=0
g) 7lx-5]=21 ) 2x~1j-4=0 ) 5-2x+3|=-15

~ x+5]=7 fw)

|x+§l=1 (—’DM v\f,tﬁi’
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1.107. Rozwiai réwnania:
a) 3-|4—x=2x

c) 2xj+x=3

e) 1—|x+5/=x

B) x+2|=x+2

b) 2—x=x-1
d) |x|=0,5x—1
f} 6+x=2x+3|
h) [1-x=x-1
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